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LAMBRICK PARK SECONDALRY SCHOOL

Foundations of Mathematics
and Pre-Calculus 10

PRACTICE FINAL EXAM
Ton. 2020

Instructions

1. When using your calculator (scientific or approved graphing calculator):
+ use the programmed value of = rather than the approximation of 3.14.
» round only in the final step of the solution.

» ensure that your calculator is set to DEGREE mode

2. Diagrams are not necessarily drawn to scale.







1. What is the slope of the following line?

Slope= TH = =3
2

cmx+b
2. What is the equation of the line passing through (—1,10) and (2, —2) in sl(:\ge — intercept form?
Ry %z ‘£1 ij&
M= - e
\jz g_" . -2 =10 *]2_ 9-—3 ":miﬁ“)()
= = == —L/ i ;
— 10 = —H(X"‘C hf))

§

X ~ X 2 -(-1) 3

\\g“l() =’L/(¥ 'H}
My =to =T H X _;l‘j)
3. If f(x) = 5x + 6, determine f(—3). {g‘ 2.._;“(_{6; }
K‘ g): 5(‘ 3)4} b ' AR -==—T
== 15+ b
\;(-n = -9
4. What is the (i[ggte.st__ Qg@g_nﬂagm of 72, 56, and 407
72 56 HO
A N A
- 2 28 2 20
3,] & a2 1y o} R)
{3y || .
A .2/\7 2 J
& q £
& L common prfmes in all lis‘f’_s

;@ %7- G} C]: - 2-3 :@ Page 1




5. Which of the following numbers are Irrational? —

- J@ 7T ¥ed 28
R; "‘fo:x\a ( I Pra‘,’l'oma‘ - L{

_Ll‘M"‘!O/\aI

, Y64, \/_8 —3.3333 ..
~ q'l'n‘onal

—3 3 %}’
re a‘h.ﬂ
dﬁf:mrx rrml
Rational

6. Simplify: 350

C3lea ¢ 25 s biggest perfet square factor of 5 0!

=3{35- 2
=3-5V2

7. Simplify: (—2775%
-(-a)3 13
Q13

S -

8. Factor: 16p —81q ¢ rFFercﬂce o'F 52“"‘"63

Ef’*ﬂm ok

11135
/N
9. Determine the cube root, using the grouping method: V3 91125 @ é?‘\a §
(2 marks) 35‘1’5
Mas5=33.3.3.33.55.5 @/?aq
A25=2(2-3-5 (3-3.5X3-3.5 ) (gf?qs
A1as'= (45X 4s)(45) @ x
3> \
~ Yl %’ 99
10. Write as a mixed radial in its simplest form: @%}é\ @
(2 marks)

Pche& S;uar?

Foctors of (13

4,16 E9
e, | -

b:ﬂﬂcs’r one
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11. What is the slope and the y-intercept of the following?

——

3x—-4y+4=0
L\qcmge +o Y= M X+ ko
Ax —HYy+H=0
I 5'-!—! ~3x 4 3
-4 Y = =23N = & Slope: “
-1 bl y-intercept |
12. Are the following relations also functions?
A) Ty B) L 1y
|
|
B ®
¢ s 5
X
| _ 18
Vertical |
line Jeost!

Functio@ N Function Y /@

13. A line segment has endpoints A(—7,3) and B

(8, —2). Determine the slope of AB.
Xy ‘5) *2 Y
M = 39_- Y,
Xy - X,
- e 1 - g - 5 - :—5\ - ‘:_'_.
x-(-7)" %71 'S 3
. -1
SLOPEof AB: T = —
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3\;1 L' g. [—'a ; 2 P TR

e I B RS
fal R T R . . 9

- N \, ‘; \f
e WL -

/“\?‘\ F r‘: ‘\11 =
14. What is the equation of the line below, in STANDARD FORM?

y nx 1 us--\j}rm(xf-xj
4 - < ﬁ
’ g~ 0% E(x-3)
(3,07 | = RS
-« - I \;i\/ﬁ' ¥ k\\j o % X - Z \ x ™
= 3 - e
7k 24 <34 I Byt b
‘}/"\(O!'h < “ ]

b =2%- 3y —>|;>x w\ﬂ 6 |

15. The slope of a line segment joining M(—6, 3) and N(4, k) is % . Determine the value of k.
* I %2 "1),

. — 2N (‘ W
Xy - % ~35(k-3)=3"!
/ N -~ - D
— k-3 3 Sk—15 = 2~
e 1 5 rio
H-(-) 5 ~
Y ==
k-3 3 ERES
I+ 0 / ‘{ }\ q
(ross S
S 22> wmu l*hP\)
\ O g o 5
16. Determine an equation of the line passing through the pomt (9 éj and parallel to the line segment
joining A(4,7) and B(1,5), in slope — intercept form. 7\ \L
X, Y ' Y» \J?_ :‘% m x(‘b

use. -t s Jomne S\ope

- - pomT N
m=Y,79, & -7 -2 .2 .;-h,e,equahv‘
N sz 003 of o W\

3—'\jle(7\°x;>
Y ~C-33=E—(x-ﬂ>
grs Zx -3 o
L = EX-G |

A

-

X'L'X' b = &

Page 4

\3+3 "X




\J A \’i j;

Yy Yy

K 9
17. Line AB passes through (9, 3) and ( 4, 7) Line CD passes through (4, —3) and (8,10). Are

these lines parallel, perpendicular, or neither?

& 7 .
SO VL eH v AB ‘F\‘P e |
S\ep®- v (\protf&\ -? -2 ._L] / MSG gw}b\
(Frpomaime "I 2T 3 S
g ‘»xgﬂ vy

CD; m 0"’(”?‘) ‘Cll'ih

—

-4 H

18. What is the equation of the line below, in slope-intercept form?

ot |

s, i
s K

‘;{”T‘ PRr th,]hd
-:.———-"-'___.‘__‘—“‘-v -

S

et

Stope | NS T
™3 N A T
AT
= mx+b = i T
B | j
ENE iE NERE

» X
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19. Determine the range of the following graph.

/ | ! solid C\uif meﬂﬂ\
0\“ Pﬂggéb?ﬂ i - : ] \N{ \{u,u
\j—’ NOTULS il ' Mae e
N | i
| S
1]
= —— x
5

' Range: '—' < %

Ww”

=

20. Determine the x-intercept and y-intercept of the graph of 9x + 6y = 72

J N

Ser \530

etk X=0
qO) + by~ 7

j by =14

Ay + b(0)= 12 6 ©
Ay = 72 Y =13
X = % x-inte%-e;t:/ C%, O)
(, L ¥ 0) yeintéreéﬁt: (O, \2)
'
/
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ﬂ\(i Fxh; =C

21. Write an equation for a line, in standard form, with the same slope as line A and the same y-
intercept as line B?
}T

£ A ) Y idercept of B
b= 2

22. The graph of y = 4x + k has an x-intercept of (—20,0). Determine the value of k.
X

Y UGARSE
L2 T ?;’:;;&,rfrmr
X
_ L’i E‘j -

= Yx+k |
(t?))__ H(_ZOB +k Q,.,ﬁplu% W X and 'j
0 = -0 +k & Solve +or K k= X0
rgo 139
K = 50

23. Use the substitution OR elimination method to find the solution to the following linear system:
i , ) —6x +y =21 and x+9y =24
Subs4tution” sy ! .
«_____f___,__ | £ limination®
- bx > \j = '

21 |
x+ 9y = 4—5X?@ | - bx +y=2l

B N \ | =24 ) |
) 1 ?l:x’m""o (* +9y z'q.x)‘(’

= g p ot o ; -
/\:‘-\\ : _ ‘-focy(} Y ‘ \GX *l"rDL'-‘j- ,;I;—’ \) . \ ’
d : = | . = ¥ = y 3 . ]
“’(“'9*”)*3 . x=-qy+29 | LA =165 ;L(;ngw 24
sHy =Myl ¥ =-a()+24 | £24 S5/ _ =21 ~*7
5541992,/ o272 s 3, (x=-3
ZIypad nHd \’;’ 3] | \Y= A o
SS:jJM /“_;__‘l . N T8 | 2 2
B¢ 55"3\3_,3 I(~5,3){ 1\ ! ( ) )]




24. There is a collection of nickels and dimes. The number of dimes is three fimes the number of
nickels. The total value of the collection : is $35.00. How many of each coin are there. Solve using

system of equations. d’ 2 ~ .
e} n be wumber of nickels f = \3

- = ',-) . \ = 7 O S\Jb&\}-).}.a_}:i
Ye b & we numbar OF dimes i_\pggén —P‘O\ \O)d 55. 00 o
7
B L hou? rawneh ‘;:‘@L\JA \“.‘.1:\ \ ;}
0.065n 1 Do {Bn)= 35,00 o nickdis e dWEED
T § vy e ) S0 _ _
U\Ogn'\'o‘swf-aﬁ‘oo-——#——*‘" ) = 2 \ "’i;%er‘% Qr e VW00 h\(}kﬁ{‘b i
o n 3509 sipnzioo] Q= 2N \ . 00 dme > |
0,350 255 CIPT Y 4-3(000) | ond 3
(ST o ;. e )
x%)3 2 d_&gou __,Qly_\;z;;j)_c,mvk:f‘,&s&&ii-ﬂ
25. Simplify: ———— _. Lo et
P ) B TRAR
b =32 2 [ atb
LN s x“%l [ NISILIY
~3 T | ) a-b
A X ox
>
. /Y a
. eh () - (&
3Ix% = e ?
26. Simplify:( x_:)ll) = (:525 2. <
5y Z 4
A

27. Write as an entire radical: 53/16

5=%i2s
= 5 e
= \‘]15 C\S ] b . R |
s = (Yo |
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28. A square has an area of 32 cm®. What is the side length of the square as g radical in simplest
form? 2
s : A=s

[§

S = side ienaﬂx A=19 o 3a=¢"

bi e:f'peﬁpec* 5@“9"5
s=32 /L 1rf20k }_6./

BB
: side len
s=4{a m
29. What is the greatest common factor of 18x%y3, 30x3y, and 8y*?

gfﬂﬁesf‘ number and \/am'a“e (S}
that divide info each term.., = !Q; {
30. Find the Least Common Multiple of 54 and 180 _
54 (80 54 = 2'@ now, fale fhe ;\fjltes%
s /N _ A, 23 F1 3 . -
9 % g 10 (80 _@ 3 @ fower o ead unigie PHRe,..
é@é@ é\g\@@%) LeM= 22334
s9=2-3¢ 29, .o Lm=4.1:5
31. Expand and simplify: (x + 5)(x “D(2x + 9) o [/C/V] = 5(7’0
=<x:_5%251%\“3="35)
=(x75 N2t 7 2=36)
~

= Q’C?E__fi%f -\}:l(?fj 4:3 180 x combine 'ii(e derme

[F22le?- 3t 150]

/

32. Factor the following:; 6xzﬁ9x -~ 7. no GCF, aj_éﬁi‘ﬁ""f’ °
D=7 e 2L 2= -2 (6x-T)
— — AL+ =~19

= Qx(gxﬂ'};/(gx*'/\)
/rﬂ: (37@ X 27 ﬂ
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Fgrglec{; 5 ?}wé Perpeo'f’ Sﬁ;mn:

I : areS -
33. FULLY FACTOR the following; lext—1 A Hlerence A ST

:(L{xq‘{-] X@an‘p%Aeﬁ df”ereM€

@x’ﬁ N z]

34. FULLY FACTOR the following: GCF _; a/
O

2x% — 2x% — 24 /
=;2(xq-':(,1"[1) qw-—-now}az) !

N Co M x3 =-d
\I,,,_:'__i»-*_}f ~|
2 APq s
236+ ha-2a*+3) |
35. Simplify: (—12@? %
;ij;;e:‘- N (— f 25)% (zéf.a :
:<3/n,35 > Z%
= (-5 * 0

a . ,
36. Expand and simplify: (X + 2)(— 32+ 8
Xpan an Slmply ( \\_‘)‘{(} -/ P )

= A3 Br I bx Hl6

e
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a= {! Sf‘mﬂf way/ .

37. Factor the following: X2 + 3x — 40
) (2n1‘afJ(§) T e .8—)(-.;5:, -—‘1‘0
. B +-8= 3

[Geekes)]

38. Factor the following:  6x% + 19x + 10 no éCF/ a :é; decom,o _

5 , £ 3
;éx *[51#{2: +10 15 x4 =40 (éx{o\)
Ty 4=
= 2x(2x+5)2 (4+5)
F@x +—5I§1 + 9:)
39. FULLY FACTOR the following: ~ 98x* — 18 GOE s L }

- ;)\(qQIQ"" 9) hOW/ AifE of Squafes )

[ -3)
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40. State whether the following are relations, functions or one-to-one functions /
repea’ﬂ{ 0s

_ . no rcpemLf " d"mm‘ :
a. (4,2),3{0),7 1, (l@ relation@N, function@N, 1-to-1 function Y, & m“ﬂe

o repeats iA a(vmain
b (L5),(29),417),(521) relation{N, function@N, 1-to-1 function@N po repents

o omwalh ,

oR/ fange-
c. 5,-2), (1 1),(5,2),(1,-1) relation@N, function Y@ 1-to-1 function Y@
G pepeas c>m*1(+be
A : if not .
i  Funchio

41. This brace is 2.75 m long and must be anchored 1.5m from the base of the wall. What angle does

the brace make with the ground? Nearest tenth

Wall panel

Tl\a a{nﬂ,e MC !::mﬁ,e
Malkes wfﬂ\ e jrmmof

(o-562 | 5T
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v
8m

42. In ATUV, UV =8 m, U =907, and £T = 38°. Determine the len?th of UT, to the nearest metre.

Fid UT.. side v .

TR e tan!

V=10.239...

Side UT(v) has
/ema'”\ O‘F

o

_ 8
\/" mgo

43. Bob is standing on a surveyors mark 25 m from the base of a building. He measures a 61° angle of
elevation to the top of the building. How tall is the building to the nearest metre?

noa
nao

oao

P

-

[H

6l°

A use éan

@a ) “\xﬁf

\X25

44. What is the domain and range of the following:

25m

@d)

Bob

2= @dm ng
_ Y5, o]

@6 buil d:nqm

v €R

1l veal o

<
[ Domain: 7C = 3

Range:
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Use the following graph to answer question 45

()
¥
. _—_— 5 b e
AEEEENNEN
= i S
. - i A i
45. Determine the value of x if f(x) = T T ""ﬁ“"""‘g‘_' \ 1
. . « [ I W [ (a =3 e |
Wha‘,' s ’Hf\e X Va,ut,’ \Nberc \/\' |'5 - 7 I 5 [ __IC;%)_%/___
! | -5 l..

L= A\ whew 4 is =

" ||

46. The p01nt (6, k) is on a line that has a y-intercept of — 2 and i 1s perpendlcular to the line

y= —x + 4. What is the value of k? \ Y 1’ P ‘Mf‘w lr\ k)
L m \

Slape:% ) Y S{ofJe 5F penp. .;S ':;2,3_ . \\ k é’@ 9\
e k=-9-2
few line g(ope :-% | Y»M]L IS ':l) K =-1I

47. Carly and Joel buy some Hot Dogs and some Smoothies for thei@?‘iends at the Saanich Fair.
\ “arly Bought 3 Hot Dogs and 4 Smoothies for a total of $33.75.

oel bought 5 Hot Dogs
and 2 Smoothies for $35.25. How much did it cost to buy one Smoothie?

[e’(’ H = c0<+ JFor ane Ho‘{' 003 IGL =R cag+ Far e )ﬂ‘ooﬁ’ll(’

Gy OBH+ S = 32.95) x5 ) doat
Tl @(5HT 25 35 5)x3 57

~[5H - 208 = -168.75

D@ 15H+ 65 = 105.75
—l43=-63

S =4,50 -

One Swoothi e
costs £4.50
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I'O* . of rod*' u,ef .
48. What is (@ﬂ@s’ when written as a single power of x?

B % df‘fl?duaei
wers v// base.. ADD ex en"’s
o iy s b R

8
3+ _
:x _—1 =

49 o Janelle and Manny are standing on opposite sides of a cell phone tower. Janelle is standing 105m
from the tower. Her angle of elevation to the tower is 23°. Manny’s angle of elevation to the top of
the tower is 36°. What is the distance from Manny to the gy of the tower? nswer 1o one decimal place

b i !
Ch 5F+ow€r‘) ase : nd x

o\ a

Find y*

-..-
I

/.\ use ’60/\

@an 23> (__Y-— xios’ jae\\e, . :
y= fonoz)rlos @) i -

—: E/usa ‘fan f,
Y= =15 t0y 367 = 121
LHS? w:__—’__\j-_;——

36 /V]GM\ w

px'sﬁzﬁre Ebm

Zon 36° Mann\f to bose o
JC é' 3”\ +0WFP is él gm

50. Sketch and selve the following triangle ABC: Angle C = 90° sidea = 6.7m, sideb = 79m

Fo_nearest terth)
Tind £B*
LB=180°-90°-40.3°
/B=Ha.7°

j>

Yl
c [ Find LA
"':" | use fan
6. Im & 'éa%nﬂA m—'z
R LA = a6 7)

~J
pe= &)
3

_\\ rwﬂ"

Fiad Twd &) Py‘“’\ag | \ =0

QAR (67 ‘1 )
\ 62.4] + 44.89 = c:“ \| \LA: H40.3

—

Sidec=_[0.4

Angle A=_4(,3°

AngleB=_49,7°

\ 107 3=c”
“01 3 } Page 15
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8ls Pete earns an annual salary of $67 300. This year he will receive a 4% bonus. Scott earns
$1040/week in wages and an average of $170 in tips per week. Who earned more gross income

this year, and by how much? S _H_
Ronus pay Co
e A 7 ;l I3l
0% o 67300 = 0.09x67200 = #;é,qa/sa!w Y
+ 467300 12007, % 5uedes F62920)

e aa
026010 M) [Pe caed voe by 7072

ora 35 hour week. Her personal annual taxes are $14 763, CPP is $2564

52, Janet’s net pa‘y is$T1

and EI is $836. What is her gross bi-weekly pay?,What is her gross pay per hour? - ne{.
antual net pay = 164 %52 = 60523 +deductions

aﬂnua Gmss = 60 528+ (9763 + 2564 +836 —f78éq/ear

g! weekly

Bi-weekly gposs= 78671 % % - -F3026.58)
#ourfy goss = 302.58 70 = #43, 2‘{/ L} Gross Bi-Weekly Pay: “3046., 58
sl hours / ht Gross Pay Per Hour: ’%‘/3 i QL/
ety ?\v.f(?:éi 9) “




53. Determine the amount of total tax on Duffy McTaxersson’s gross earnings of $94 000.

Assume CPP and EI have been paid and they are tax credits.
0
55 gam{ ov?/CPP: = max < fg ;156‘1’. 10 I

5,§ffoue E: = max =¥ 836, 19
Total (CPP + EI):
£ 2564 10 836,19 =/ 3400,

Fed tax: Bl = max = A 6887,40
B = max = ’/M /.'amoan'l'@ 267

(G s <ol e - #alr oI5t
siogpio + 41450 - ASLa 14 =P 643,92

" Fed Tax Credits: = ( Basic Fed, credit +CPP/51:) x 0. 1l5
= ( [28(2 + 3400,29)x 0.5
= (16213,29) x0.U5 =

/

p

- % o

7 2431.99
7 1443].93

Fed Total Tax:

|H

Prov tax:

gl = max = & [268.24

B2 = max = £2995,22

B2 = max =~ﬁi}_&_ﬁ_._ﬁ_2 /amwl'@/%;_:}a(z

gl = Qoo — 99320 = AH680 X 0.1231 = H575.17
¥4 4)209,92 +#575,17 =
4 196934+ 72015, 23 + CLGL 12 TS AP0 148,55

~Prov Tax Credits: - (BQSI‘C Prov. C‘_ﬁ#_ +e PP 5‘_[) X0. 0<0E

( L0207 + 3400. Q9 x p,050&,

e = (13607.29 )« 0,25’06 =
- 4474855 -7688.53= % 606000 ¥

e —

Total Tax: — Total Fed . Tax + T0+a/ 'P/‘Ot/.'TéZX +a‘f'ﬁ’ {—ax

= A14q431,93 +H4060.02 5;20%/.‘15

{1




(h,T)

54 A Plumbing company charges a fixed amount, plus an hourly rate for a service call. A two hour
service call '35 $145, and a four hour service call is $255.

(345 4, 255)

a. Write the equation that shows how the total cost, T, depends on the number of hours, h, and

the fixed cost, C. Use R for hourly rate. — Hp L | y =L ‘f"lﬂ

J T =Rh+C]

rque K'FMED( cost... Jr\i!Ll'cz( l/allug
Clikeslope) (like y—m/'efCepL)

b. Find the hourly rate.

like {:ma(w\j S/of’e “yse (Q /L/S and (‘l[ %5

Doun|
0 e = |2 V, A55 - /‘/5/ 0 % y
J Y,, =7 —Lj—j—i* PN @ (f\a%

¢. Find the fixed amount cost.

e, 17550 +C g (2, 145)
lys = 55(2) +C R T

lds = LI + C
-.gys_ J;»g | @:%35’ F;’xeo{ Cos‘,‘

d. Wm{—e, Hue e@uahon 'H’\OF}' now describes i’hm Fafﬁ\l”'ﬂ-ﬂﬂ, W\&{ use i‘L 1Lo ‘(:imal
the total coct oF 27 howrs of work,

T=Rh+C(
! T =55 +§5‘ QJZ‘L(G{{'DIOV\

: OW T=55(27)+35 -
h g @ co;f’ ) FQL((T!"OF“ T 65A+3§
i Cost cﬂt A7 house OJEW:‘?[Z/{ ‘g{f 520
e, Fmo( -H\E domain Moﬂ !'\(15'\38;
(h\) Domenin s 20 l 2 3 Lf///é}7 ,a,g
(T Rouge: { % 5,300, 955, 310 .. ﬁ

,/
{: X(’"‘ ,;f( {55




